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X ZH -
L= B

el

= - 4 14
(B1H) - MEAY - ByS %Eﬁ HR=2
I % e A A
2,700,000 2,700
== Syl X 7,875,000& 7,875
9,000 0 9,000
9,000 0 9,000
9,000 0 9,000
ME MY X
4 000 *2, 2504 9,000
83 =& 10,200 ,200 A 92,000
1,200 ,200 0
1,200 ,200 0
cHItE M=
80,000& * 1504 1,200
9,000 ,000 A 1,000
9,000 ,000 A 1,000
A8 AHIAF AKX ME
4,500,000& = 23| 9,000
8,550 ,500 A 950
8,550 ,500 A 950
8,550 ,500 A 950
A EBHHIH] X
500& = 17,100% 8,550
20,000 0 20,000
6,000 0 6,000
= 6,000 0 6,000
= THOHA AFHEQIE o1 A4 |
6,000,000& 6,000
14,000 0 14,000
8,000 0 8,000
Z O 29 8,000,000& 8,000
6,000 0 6,000
E BT B223 g
6,000,000 6,000
= 682,135 113,295 568,840
= 50,008
N 250,000
& 36,820
= 345,307
617,215 39,875 577,340
= 50,008
Xl 250,000
& 31,320
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BH: a2 M4 - SEB2
el st SSHA 2435 CEERED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
= 285,887
sSME AE JedED AX(&H]) 33,000 0 33,000
& 13,200
= 19,800
402 SI2F X201 & 33,000 0 33,000
& 13,200
= 19,800
01 QIZEXIE2AIE 2 X 33,000 0 33,000
O 28240 &X
6,000,000 * 110 2 x50% 33,000
= 13,200
- 19,800
SHE SSHA 2= 5,875 8,875 A 3,000
201 LBt | 500 500 0
01 AP 22| H| 500 500 0
O sots SAX] ZELHE 22,5002 * 2004 500
202 044l 4,000 2,000 2,000
01 2L Y| 4,000 2,000 2,000
O s¢t28 KFSHHA 25 4| 4,000,000& 4,000
301 LBt A= 1,375 1,375 0
09 HAIAHI EAZ 1,375 1,375 0
O sht8 K 23 s U AsH Alg] 24
875,000 875
O JAXEACSHS SO 2AIR AH 24
500,000 500
sNE A24H4&10 &R 168,000 0 168,000
402 SI2FXHE0| ™ 168,000 0 168,000
01 QIZEXIE2AIE 2 X 168,000 0 168,000
O sdt2 N2 MH&ED0 A
6,000,000 x50= *1/2 150,000
O sttt SYHNHEAE EXXS
12,000,000 *3=*1/2 18,000
AN SHtE &5 284 AR (=Hl) 26,600 31,000 A4 400
=} 8,000
= 18,600
307 QI2t0| ™ 26,600 31,000 A4 400
= 8,000
= 18,600
02 QI2tAMAIE E X 26,600 31,000 N4 ,400
O =884l X& 26,600,000& 26,600
& 8,000
= 18,600
HMEAZEAMAT XA (XKE) 300,000 0 300,000




M ZHEH L
Al

M sits da - KRSl
Sl S42 SEMN BHE (ol ml)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Xl 250,000
s 50,000
402 RIZFX20l ™ 300,000 0 300,000
Xl 250,000
i 50,000
01 It =2 AL B X 300,000 0 300,000
O HELSAE JIBZH MF U Mgt
= 300,000, 000& 300,000
Xl 250,000
[ia 50,000
GAPQIE =DOF ovd A HANHl X2 (=4I) 83,740 0 83,740
= 50,008
< 10,120
e 23,612
307 glz2tol & 83,740 0 83,740
= 50,008
< 10,120
s 23,612
02 QIZtE M AHEE 83,740 0 83,740
O GAPRIZS = etd e & AtH| 71,440,000& 71,440
= 50,008
< 6,430
s 15,002
O GAPRIES =0t & A Al =2
12,300, 000& 12,300
< 3,690
s 8,610
B¢ 4 2 FSHA 2= 64,920 73,420 A 8,500
< 5,500
s 59,420
SSHE BHE 4 52,420 63,420 211,000
201 Let24d] 5,920 41,920 236,000
01 At 2teltl 5,920 41,920 36,000
O «er2d9H| 5,920
— 3SEd¢E 010X 822 M
3,000& = 1,0007H 3,000
~ Zsugc BYE BAaY
70,0003 x8H +23] 1,120
— BdE 82 ZHIHE HMEF S 600,000 600
— MAMIEHH EHE WE ZAxE
300,000 = 2% « 23] 1,200
202 044l 1,500 1,500 0
01 = LH o4 1l 1,500 1,500 0
O sE¢= BdE 4 0l 1,500, 000& 1,500
307 gl2tol & 45,000 20,000 25,000




M ZHEH L

M mp2 M4 - fERe
SR SHME S8 Y ISHH S EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
02 Q2B AMAIE E =X 45,000 20,000 25,000
O SN2 ZHEM MZE XS ALY
45,000,000 45,000
SENMNES BUE SH4(BX) 12,500 10,000 2,500
& 5,500
= 7,000
307 2iz2to| A 12,500 10,000 2,500
& 5,500
= 7,000
02 QIZFA AAIE E X 12,500 10,000 2,500
O KRIIJIBASSH K&
2,500,000& = 500 LM * 40% 5,000
= 2,500
= 2,500
O ZAECIAQIOREY HE X
15,000, 000 *50% 7,500
& 3,000
= 4,500
SHEAMA A3 1,433,337 1,671,378 A 238,041
Xl 882,000
= 551,337
SEUSSSEMNLAE 1,300,000 1,520,000 A 220,000
Xl 882,000
= 418,000
SENSESSHLAML (HMOIEH)XE) 1,260,000 1,470,000 A 210,000
Xl 882,000
= 378,000
201 Bt 5,000 5,000 0
Xl 5,000
01 AP 22| H| 5,000 5,000 0
O At22lgl 5,000
— ExZ2H|(EYH Y, EIIA2 HE S)
2,330,000 2,330
N 2,330
~ UefE 2g4g
100,000& * 3% « 43| 1,200
Xl 1,200
— YRFXN ZEH| 7,000 * 3¥ » 70 1,470
Xl 1,470
202 044l 9,000 7,200 1,800
Xl 9,000
01 2Ll 9,000 7,200 1,800
O =2WAHHbI 20,000 * 3Y¥ = 150 9,000
N 9,000
207 A3 IH | 60,100 36,513 23,587
Xl 42,070
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M seEme U
H?: sE0SSEMLEAS (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 18,030
01 89 60,100 36,513 23,587
O XN e2dstEA] 60, 100,000& 60,100
X 42,070
s 18,030
301 gt d= 500 500 0
Xl 500
09 SALAHIEA S 500 500 0
O @ Atal I 500,000& » 194 500
Xl 500
307 glz2tol & 14,400 14,400 0
02 UABMAARE 14,400 14,400 0
O NSH 29 X™2
1,200,000& » 198 » 128 14,400
401 Al HIZ 201 I 102,645 5,063 97,582
Xl 77,582
s 25,063
01 A& HI 98,798 0 98,798
O Ha0l&A A& 98,798,000& 98,798
Xl 74,889
s 23,909
03 AIE2 2 THHI 3,847 5,063 21,216
O DHa0IAS AIZR0HHI
1,068,355,000& * 0.36% 3,847
X 2,693
s 1,154
403 UM E X201 H 1,068,355 1,401,324 A 332,969
Xl 747,848
s 320,507
02 S| 2SO0l CH&HCH & AF B 1,068,355 1,401,324 A 332,969
O DHa0IA S ZAkHI 1,068, 355,000& 1,068,355
Xl 747,848
e 320,507
SZE0ISEZEMEAMS AIEE SR 22 40,000 50,000 A 10,000
401 Al HIZ 201 Y] 40,000 50,000 A 10,000
01 A& HI 40,000 50,000 A 10,000
O AI€2 |XIZeldl  10,000,000& *» 443 A 40,000
HAM2AH =T RRNES 133,337 151,378 A 18,041
HUAET AEE RAES 133,337 151,378 A 18,041
101 @124 dl 20,937 18,978 1,959
04 DIt Z2XREES 20,937 18,978 1,959
O &fu2HET A= 22 20,937
- g3 43,0003 1 260 11,180
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M seEme U
Sl MMAESK RS (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
- FEH 43,0003 x1H x52! 2,236
— A2t =< 4,994 x 1 x50 2Hx 12 2,997
— Xz 43,0002 x13H x5 645
— H"ESIY| 43,0003 * 1Y x21L x60%*23] 1,084
— J|Lxde 43,000 1 %260 x25% 2,795
201 et 9| 32,400 32,400 0
02 232%H4| 32,400 32,400 0
O 222 32,400
— M2 30,000,000 30,000
— Se=3 1,200,000& 1,200
— =W 1,200,000 1,200
401 AlEHIZL £ 0HY| 80,000 100,000 A 20,000
01 Al&H| 79,136 99, 100 A 19,964
O N2 A2 79,136,000 79,136
03 A& E2HH] 864 900 A 36
O AN&E=E g2 80,000,000& = 1.08% 864
S AR 2,021,130 3,207,730 A 1,186,600
ZHEAEZ 22 1,721,130 677,730 1,043,400
= HE ANES S22 24,100 27,100 A 3,000
201 et d| 21,600 21,600 0
02 E32%H| 21,600 21,600 0
O 2222 2 MA=: )
1,800,000& x12& 21,600
202 044 2,500 2,500 0
01 2L I 2,500 2,500 0
O 894z o=(2W) 2,500,000& 2,500
D2 HEAIL Z2H 1,687,030 25,030 1,662,000
201 £Bt24 | 20,110 20,110 0
01 AP 2t 2| H| 20,110 20,110 0
O ZZelHE ot 5 s10a
1,875,000 43| x2JH At 15,000
O 2SS HHag
70,000 * 129 * 43| 3,360
O 02YsU22X} 2| 1,750,000 1,750
202 04| 1,920 4,920 A 3,000
01 2Ll 1,920 4,920 A 3,000
O ZHEANZAIEE A
20,0008 * 49 x 22 « 128 1,920
401 AlEHIZL £ 0HY| 1,665,000 1,665,000
01 Al&H| 1,657,675 1,657,675




SM: B
R PRI\
ool RHANLE B

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O ZAHEAIY 2284 200,000,000 200,000
O sz 22AdAHEHWEH EX
1,457,675,000& 1,457,675
03 Al 2 0HHI 7,325 0 7,325
O &&=z ZelHEMEH &9 f0Udl
1,465,000, 000& *0. 5% 7,325
=0 AN EX 2 E= 10,000 30,000 20,000
401 AIEHI L 201 10,000 30,000 220,000
01 A& HI 10,000 29,676 A 19,676
O &= AN &4 2 B 10,000
— SAEB2=(1001 SH 450H2)
10,000,000& 10,000
ZHEAEAE 300,000 2,350,000 A 2,050,000
ZHEANE FXNEAY 100,000 200,000 100,000
401 AIEHI L 20 100,000 200,000 2100, 000
01 A& Hl 99,100 198,560 A 99,460
O EZ2ANE B, HEEM S 99,100
— BAS ZD2 OARHN D)
49,550,000& 49,550
— s 2H4% S22+ 49,550,000 49,550
03 Al S THHI 900 1,440 A 540
O @ HEANE |FANEFASY AIERUH
100,000,000& * 0.90% 900
TAHEANE F0I018d EX & 2SS ALY 100,000 200,000 100,000
401 AIEHI L 2 CHYI 100,000 200,000 A 100,000
01 A& HI 99,100 198,560 299,460
O &FJoEd =X 99, 100, 000& 99,100
03 AlE 2 THHI 900 1,440 A 540
O &AJI0IEY EXHY AIE20Ub]
100,000,000& * 0.90% 900
SAURAIE~FEE ZHEEZ2OHEALS 100,000 400,000 300,000
401 AIEHI L 2CHEI 100,000 400,000 A300,000
01 A& HI 99,100 397,120 298,020
O HMUQQAE~FZEZ ZHECZZ HEAS
=l ,321,330& +75m 99,100
03 Al 2 THHI 900 2,880 A 1,980
O SHMUQQAE~-FIEZ ZHECZZ HEAS
A2 2 0HH| 100,000,000& * 0.9% 900
258 4 3,431,856 3,997,143 A 565,287
Xl 2,402,100
s 1,029,756
HEsS AMX SEEHAY 773,000 2,597,143 A 1,824,143
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X{ XH -
S =

2. HE S ATMA =SS ZHAMY (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
T 547,100
- 231,900
HE S ATMRESSEUAMI(XE) 773,000 2,597,143 N 1,824,143
N 541,100
= 231,900
401 Al HI L RO 5,180 11,150 ~5,970
Xl 3,626
= 1,554
03 AlI&E 20| 5,180 11,150 AN5,970
O HESAMXNSEHH ALY 204
773,000,000 «0.67% 5,180
Xl 3,626
= 1,554
403 XX SHHS K20 & 767,820 2,585,993 N 1,818,173
Xl 537,474
= 230,346
02 Z2J| 2t 0l CHSHCH & AF HI 767,820 2,585,993 N 1,818,173
O HESAMMANSE U A 767,820,000& 767,820
Xl 537,474
= 230,346
SITE ATHK SEFHIAY 1,826,000 740,000 1,086,000
N 1,278,000
= 548,000
SIEH ATHANSEHHAMY(XE) 1,826,000 740,000 1,086,000
Xl 1,278,000
= 548,000
401 Al HI L 2T 7,304 4,662 2,642
N 4,913
= 2,391
03 Al 24| 7,304 4,662 2,642
O SANHAATHKX SEEHUIAIE 204
1,826,000,000& =* 0.40% 7,304
Xl 4,913
= 2,391
403 XX SRS R 20| & 1,818,696 735,338 1,083,358
Xl 1,273,087
= 545,609
02 2II2S0CHeCH& A I 1,818,696 735,338 1,083,358
O ZIEAHAAMTHA SEEHYAS
1,818,696, 000 1,818,696
Xl 1,273,087
= 545,609
HEH ATHK SSEH ALY 380,000 660,000 A 280,000
Xl 266,000
= 114,000
HEH ATHK SESEUAMI(XE) 380,000 660,000 A 280,000
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Xl 266,000
s 114,000
401 Al HIZ 201 8] 2,736 660,000 AB57,264
Xl 1,915
i 821
03 A& =2 THHI 2,736 4,158 A1,422
O Z8H ATX SSEHUIAMYE S0
380,000,000& * 0.72% 2,736
Xl 1,915
[ia 821
403 MtXISHE X201 E 377,264 0 377,264
Xl 264,085
e 113,179
02 S| 2SO0 CHEHCHE AL B 377,264 0 377,264
O Z8H ATX SEEUIAYE  377,264,000& 377,264
X 264,085
s 113,179
2™ 02 2SI M 452,856 0 452,856
Xl 317,000
s 135,856
FES JNLZB FXHONUSUSI ME(XS) 104,285 0 104,285
Xl 73,000
i 31,285
401 AIEHI L 2CHYI 104,285 0 104,285
Xl 73,000
[ia 31,285
01 A& tl 103,346 0 103,346
O Jlds EXHDSSIIAY A&
103,346,000 103,346
Xl 72,343
s 31,003
03 Al 2 THHI 939 0 939
O JIgs ZTXZHOISSUHSIIAYE AIERUHI
104,285,000& *0.90% 939
Xl 657
s 282
SXH Sgel FEHOSUHEI| AP (XE) 200,000 0 200,000
Xl 140,000
[ia 60,000
401 AIEHI L 20 200,000 0 200,000
Xl 140,000
[ia 60,000
01 A& Bl 198,560 0 198,560
O SHel ZXZHOSHSIIAY A&
198,560, 0003 198,560
Xl 138,992
s 59,568




2 M
B A5E 84
oelr BEH OIS BSI ALY CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
03 Al 20| 1,440 0 1,440
O &4 XAM0ISUHSIIAIY Al 20|
200,000,000 *0.72% 1,440
N 1,008
o 432
AES HAE HXXMOISUHEIAMNE(XNE) 148,571 0 148,571
Xl 104,000
= 44 571
401 AlEHIZL £ 0HY| 148,571 0 148,571
Xl 104,000
= 44 571
01 Al&H| 147,501 0 147,501
O HE Hp BXRHMOISCHE DAY Al A H|
147,501,000 147,501
N 103,251
= 44 250
03 AlIE 21| 1,070 0 1,070
O &5 HA 2XA0ISCHSIIAIE AIE 20|
148,571,000 *0.72% 1,070
Xl 749
= 321
MHARS 3,813,025 2,673,432 1,139,593
= 138,775
N 1,900,195
& 66,174
= 1,707,881
THeHAIE 4 XS 3,309,408 1,946,038 1,363,370
Xl 1,900,195
= 1,409,213
ZAFTHEHAI =S 40,880 82,680 A 41,800
101 Q124 H| 4,200 4,200 0
04 JI2ZtHIZ22NEES 4,200 4,200 0
O ZHALAIE SHEA HA o182
5,0008 « 120& 4,200
201 gEt24y| 8,480 8,480 0
01 AP 22| H| 3,680 3,680 0
O LAIE SAL S| 1,680,000 1,680
O ZHAAIE 29 ABH4=E2L 2,000,000& 2,000
02 2224 H| 4,800 4,800 0
O SAAIE &= JIIe=2 400,000& = 12& 4,800
202 04 d| 2,000 2,000 0
01 2Ll 2,000 2,000 0
O HEANE AIE&222 S 22FA
2,000,000 2,000
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X ZH -
L= B

el

HehAlE S8

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
307 212t01 & 16,200 18,000 A 1,800
04 QIZESHALAIE B2 X 16,200 18,000 A 1,800

O AMEEHS O|HE A 16,200,000& 16,200
401 Al HIL 20| 10,000 50,000 A 40,000
01 Al bl 10,000 50,000 A 40,000
O HBNBBANT SENT RNES
10,000,000& 10,000

M AlE XI& 22 42,687 40,728 1,959
101 @121l 20,937 18,978 1,959
04 JI2ZtH 22 XNEE S 20,937 18,978 1,959

O MeHAE dREX 20,937
A R=t=] 43,0008 * 1Y x 2602 11,180
- =54 43,000 + 19 = 52 2,236
— AZedSg
4,9943 » 1Y » 50AI2+ = 128 2,997
— X< 43,000 * 14 = 15 645
— Y9 & FItH| 43,0003 x 1 *21 ! x60%*23] 1,084
— J|gg 43,0003 *1H *260 Y *25% 2,795
201 Bt A H| 11,750 11,750 0
01 AFR2 22l Yl 5,750 5,750 0
O 2Et24d9H| 5,750
- 224 238 F4l 3,000,000& 3,000
— MHAIE &5 22| 2,750,000& 2,750
02 332494l 6,000 6,000 0
O 3294l 6,000
— MIIe3 3,000,000& 3,000
— &2 L oI AIES 3,000,000& 3,000
401 Al HIL 201 10,000 10,000 0
01 A& HI 10,000 10,000 0
O HSAIE ANE2 XH2(22H S)
10,000,000& 10,000

FYA HE EQAE 22 245,184 302,630 N57,446
101 @121l 8,400 8,400 0
04 JI2ZtH2Z2XNEE S 8,400 8,400 0

O EQAE FEA HA 02
35,000& * 29 * 120« 8,400
201 L2 H| 81,950 76,030 5,920
01 AFR2t2l bl 27,200 27,360 A 160
O gEr29Hl| 27,200
— EQANZE BSAXIDE AE2Y) 2|
5,000,000& 5,000
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M MAXS

S MeHAE X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— EQANE 2Z A2E (BN, BY
HEES) 15,000, 000& 15,000
— It BAI2CI Ul =2
600,000 »12& 7,200
02 =224l 54,750 48,670 6,080
O ERQANE 2Z2R= 54,750
— 2ZTAE FIIEZ 1,000, 000 +2H & 2,000
— dadioled o134
250,000& *3IH 2~ +13] 750
— MII&Hl Il A 1,000, 000& 23| 2,000
— YHOIE A AL 700,000& 1201 & 8,400
- HMIRI0I2S X8 20,000,000 20,000
— EQANE Fstx EA 1,000,000& *43] 4,000
— EQANZE St=2H & 300,000& 123 3,600
— o=k AIEE 10,000, 000& 10,000
— tg AZH| 4,000,000& 4,000
202 044l 3,000 3,000 0
01 = LH o4 1l 3,000 3,000 0
O EQANE 2g0 E =W
3,000, 000& 3,000
203 R =&t 4,000 4,000 0
03 A Z=XH R =AY 4,000 4,000 0
O EQANE & HSAZEUSAYE ABMIRF
&yl 4,000,000 4,000
301 et 8= 12,500 22,500 A 10,000
09 HALAHIE& S 12,500 22,500 A 10,000
O EQAE AN & 2F FIHA &H|
10,000,000& 10,000
O 24N 22sl &It 29X Al
50,0003 «5 =10 2,500
307 glz2+ol & 135,334 188,700 A 53,366
02 It HAHE L 28,080 0 28,080
O EQAZE dBHEZ NEY <&
540,000& * 523l 28,080
04 QIZFHALAIH E = 107,254 188,700 A 81,446
O EQANE 3 &AL =& 95,004,000& 95,004
O sUEe HAEEZ #A2H
450,000 500 Sl 2,250
O EQAEINE 105=E & A 10,000, 000& 10,000
EQANE F=2 AMEsX2el 10,000 20,000 A 10,000
401 Al HI X 201 10,000 20,000 210,000
01 A& Hl 10,000 20,000 A 10,000
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01 A& HI 30,000 ,000 10,000
O 232 MHEX AL(HI, 24+ £ S)
g2 30,000,000& 30,000
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